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I #AeHER (kingdoms) @ ¥ » “algae” X BN T 747 £ 7
{A) Monera (C) Plantae
(B) Protista (D) Monera, Protista, and Plantae

2. TN A R FARBANEEE - BB - BT
(A) Amanita phelloides (C) Panicillium
(B) Morchella esculenta (D) Saccharomyces cerevisiae

3. F ## i Photoautotrophs & # ik » 478 L5 7
{A) inciude only the green plants,
(B) make sugar by using organic raw materials.
(C) produce organic molecules from inorganic molecules.
(D) eat other organisms that use light energy to make food molecules.

4. T 7174 Bl meiosis B4 » {TH IR 7
(A) It consists of two successive nuclear divisions.
{B) It produces a total of two daughter nuclei.
(C) It produces cells with half as many chromosemes as the parent cell.
(D) It produces cells with one homolog of each homologous pair.

Lh

CAETAEHAEERT 0 RE SIS IERTYH S:S; e sy T ?

(A) If you used pollen from a carpelate flower, to fertilize a staminate flower, it would be successful.
(B) If the plants used sporophytic self-incompatibility, half of the polien would be successful,
(C) If the plants used gametophytic self-incompatibility, half of the pollen would be successful.

(D) Pollen from an §,Syplant can never pollinate an S;S3 flower.

. F #4347 & 41 Photosystem I 7 i # £2 Photosystem I1 & #f ?
{A) can function only in association with the other photosystem.
(B) donates electrons to an electron transport chain.
(C) splits water to release oxygen.
{D) contains P700 at the reaction center.

O

T FEMBAREDEZE AR lignin AT HAN-HaBLwBnb Al R ANMYBEY
(A) fiber (C) epidermis
(B) vascular cambium (D) sieve tube member

. TRIAMME R Z FILHE &l » HE R LT

(A) production of seeds in all lineages

(B) progressive reduction of the sporophyte

(C) sporophyte becoming nutritionally dependent on the gametophyte
(D) increased protection of the gametophyte by the sporophyte

O MTALERAE MERFREDBARTLALE?
{A) Calcium. (C) Iron
{B)} Magnesium. (D) Sulfur.

10, F #e74 $1 4 4 48 86 Ak phosphate 485 7
{A) a POq4 channel in the endoderm of the root.
(B) soil bacteria to make the phosphate bioaccessable.
(C) symbiotic fungal hyphae to increase the effective surface area of the root.
(D) root nodules fixing phosphate from the air.

I, .%éﬁ%%ii ERPEEENGOKATER  RITHTFHAR LI RHM?
{A) phototropism because it is dark in space.
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(B} photomorphogenesis because only near-red light filters into space.
(C) gravitropism because there is little gravity in space.
(D) aerotropism because there is no oxygen in space.

12. 3 oa-amylase shAa AL RS A RS THET H Y N ERR T2 AENLEL?
{A) The seed could not imbibe water. {C) The seed coat would not rupture,
(B) The embryo would starve. (D) The seed would germinate prematurely.

13. F 5% M pollen tubes &4l - E R Erkeh ?

(A) providing water and nutrienis to ovules. (C) the sites where sperm cell and egg fuse.
(B) iransporting sperm cells to ovules.- (D) growing in response lo sucrose.
14 ppémfeBape REM T  BY_ THabHk @ AE fom B3 R PR AR, 9
(A) auxin and GA; ABA and ethylene (C) ABA and ethylene; auxin and GA
(B) auxin and ethylene; GA and ABA (D) ABA and GA; auxin and ethylene

15. F 5|48 §f & AT & % 4 # greenhouse effect 7
(A) reduced by the addition of carbon dioxide to the atmosphere, since carbon dioxide removes excess
heat from the Earth's surface and reflects it back into space.
(B) reduced by the burning of fossil fuels, which removes oxygen from the atmosphere.
(C) reduced by photosynthesis, which removes carbon dioxide from the atmosphere,
(D) made worse by photosynthesis, which adds carbon dioxide to the atmosphere.

16 THATEZR € 4L DNA a9+ ? (A) deoxyribose (B) pyrimidine (C) hexose (D) phosphate

17. F #14 B & % -F(signal molecules)sy 43 1t » 74 F 5% ?
1. are water soluble
II. pass through the plasma membrane by active transport
I1I.bind to specific receptor in a membrane
IV. induce an enzymatic cascade reactions in the cytoplasm
(A) I and III. (COLIL and IV.
(B) IIL, and IV. (D) L, I, and T'V.

18. AMRHE eI H B

(A) pharynx — esophagus — pyloric sphincter — stomach - cariac orifice — duodenum — jejunum - ileum —
cecum - colon — rectum,

(B) pharynx — esophagus — cariac orifice — stomach - pyloric sphincter — duedenum — jejunum - ileum -
colon - cecum - rectum.

(C) pharynx -- esophagus — cariac orifice - stomach - pyleric sphincter — duodenum - jejunum — ileum —
cecum - colon — recturn..

{D) pharynx — esophagus — cariac orifice — stomach - pyloric sphincter — duodenum - ileun - jejunum —
cecum - colon —rectum

19. FHABMATRYBARE BT

{A) hemophilia. (C) artherosclerosis.
(B) hypertension. (D) thrombosis
20, EREXFRFAT RALES
(A) contraction the diaphragm. {C) relaxing the muscles of the ribs.
{B) the Tungs to expand the alveoli, (D) forcing air from the throat down into the lungs,

21. F F)p 2k g 3% 3 4% 4728 (monoclonal antibody)# B ?
I. antigens. II.Ty cells III. Phagocytic cells IV. myeloma cells. V. plasma cells.
(AL, IL IIL, IV, and V. {C) I, M1, IV, and V.

(B) L, II, I, and V. (D)L IV, and V. #% (-k E
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23,

24,

25.

26.

27.

28.

29,

30,

T 386 4k 4 58, € 04T = 7 KM (phagocytosis) ?
(A) macrophag, and neutrophil,
(B) macrophag, neutrophil, and eosinophil.
(C) macrophag, neutrophil, eosinophil, and basophil.
(D) macrophag, neutrophil, eosinophil, basophil, natural killer cell, and Tc cell.

FHEMTHEG T ERNTRAAR LR AR PR RERHRE?
{A) serotonin. (C) epinephrine.
(B) glucocorticoid. {D) adenocorticotropin.

AUHEECRBLARRE R ORE - T THRARS
L. eating salty meal. ’ ’
II. drinking too much alcohol.
I11. an increase of ADH releasing,
IV. a decrease in the osmolarity of the blood.
(Ayland II. {C) [ and IV.
(B) L, Il and IIL ’ (D) 1L, [l and IV

& e 4t — 18 8% E f(action potentia 8% » F R 4135 F £ 454 9
(A) Na' channels are opened. (C) K* chanmels are opened,
(B)Y Na" and K* channels are activated. (D) Na" and K* channels are closed.

# B 845 8 #A(estrous cycle) A A 42838 #7 (menstrual cycle) ) th & » {74 &8 ?
(A) Hormone contrel occurs in menstrual cyeles, not in estrous cycles.
(B) There are stronger effects of season and climate on menstrual cycle.

(C) There are more significant behavioral changes during menstrual cycles than during estrous cycles.
(1Y) In menstrual cycles, endometrial breeding occurs, while the endometrium is reabsorbed by uterus in

estrous cycle.

16k 2 1, (birth control pills) &y & 3 3 %] B 4T ?
(A) They cause spontaneous abortion.
(B) They prevent implantation by irritating the endometrium.
(C) A negative feedback system stops the release of GnRH, FSH and LH.

(D) A negative feedback to affect progesterone releasing, thus pregnancy can’t be maintained.

FHREr 4 BERGAE F Y 6VRA BT 7
L cortical reaction.
11. first cell division,
I11. acrosomal reaction.
IV. fusion of egg and sperm
V. onsel of new DNA synthesis.
(A) HI—-V—I-TI—IL (C) IV>I=-II-Il-V.
(B) NI=I-=IV—-V—IL M IV—=Ill—-]-V—Il

FME BRI 488387
(A) H" is not reabsorbed in nephron.
{B) NaCl is actively reabsorbed in loop of Henle,
{C) Most nutrients are reabsorbed in proximal tubule.
{D) Water is passively absorbed in proximal tubule, loop of Henle, and distal tubute.

SR A E R AR R AR 7

(A) bipolar cells—ganglion cells—lateral geniculate nuclei-—optic chiasm—primary visual cortex.
(B) bipolar cells—ganglion cells—optic chiasm-lateral geniculate nuclei—sprimary visual cortex.
{C) ganglion cells—bipolar cells—lateral geniculate nuclei—optic chiasm—primary visual cortex.
(D) ganglion cells—bipolar cells—optic chiasm—lateral geniculate nuclei—primary visual cortex.
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R FRNBEL THEFEELE ) KANS  EBEAREZIER -
B. L E  (10%)
1. apomixes
2. fossil
3. phytochrome
4. seed dormancy

C. ¥% ' (30%)
L RESEaYNeE ik AdehlimbBrEeaiy Sl arE9is - (5%)

2. B E R Arabidopsis i AH) AR RYHMEWEILBSETRAMOEE » RRBABAC
classses 4 homeotic genes 4o {77 # 4T sepals, petals, stamens, & carpals 898 F > @& 455084 Kef
& FERATEEREILE ? (TREE RSB (5%)

3. A ABAEYMESEAALFFIMRIET DNA Arl L Bl &2 o DNA &
Pl HHEETERRKEE - BB 2R Rt m ? (10%)

4 RBALLLRBMARDHRELHAE » Bibk4 BeEE (10%)

RELAMEES S

— 10

30





